Karen DeMaria

From:

Karen DeMaria

Sent:

Tuesday, July 03, 2018 5:13 PM

To:

Subject:

Tree purchase estimate requested

I need an estimate for the purchase of the following trees by Monday July 9 at noon:

- (1) Maypan Coconut Palm 15 ft CT straight trunk
- (5) Silver Buttonwood (65 gallon)
- (3) Gumbo Limbo (65 Gallon)
- (1) Wild Cinnamon (65 Gallon)
- (3) Thatch Palms 8 ft CT

All of the above trees are to be delivered to the City yard on Palm Avenue, Key West sometime in July, once approval has been given. Trees should be FL#1. All trees and palms must be suitable for planting in street planters and the species have been selected for specific locations.

Sincerely,

Karen

Karen DeMaria Urban Forestry Manager/Tree Commission Certified Arborist 305-809-3768 1- Just Keys Trees
2- John Mumford
3- Ecoscapes
4- John Cole
5- Mark Harris
6- Blue Native
7- MaMa's
8- Native Landscape

Karen DeMaria

From:

Robert Shoelson <robert@gettinggreen.com>

Sent:

Thursday, July 05, 2018 11:33 AM

To:

Karen DeMaria

Cc:

John Cole

Subject:

RE: Tree purchase estimate requested

Karen,

John Cole forwarded me the list of trees you are looking for. Here are the prices for the material on the largest sizes available. Please let me know if you need any additional information.

1. Maypan Coconut Palm 15 ft CT straight trunk -14'GW \$1190

= 1190

(5) Silver Buttonwood (65 gallon) – 45G 11' 2-2.5" Std (Largest Avail-VERY Limited) \$330 × 5 = 1650

(3) Gumbo Limbo (65 Gallon) -45G 12' 3-4" (Largest Avail in container – Very Limited \$350) FG 14-16'OA \$450 (Very Limited)

(1) Wild Cinnamon (65 Gallon) 65G 7-8' \$350 (Extremely Limited) 350

(3) Thatch Palms 8 ft CT 11-12'OA Largest Avail \$480 x 3 = 1440

Freight to Key West \$650

Respectfully,

total = 6,330

Robert Shoelson, President Getting Green Plant Service, Inc. 954.680.1819 Fax 954.680.1669 Email: Pobert@GettingGreen so

Email: Robert@GettingGreen.com
For Availability and Photos, Please Visit:

http://www.gettinggreen.com/



Did You Know???

We now stock a full line of landscape tools and supplies, a large variety of decorative rocks, soil and sod. Let us know if we can help with any supplies you need for your next job. Check out our inventory. http://www.gettinggreen.com/supplies.php

From: John Cole <shadetreeservices@yahoo.com>

Sent: Tuesday, July 03, 2018 7:39 PM

To: Robert Shoelson <robert@gettinggreen.com> **Subject:** Fw: Tree purchase estimate requested

Detail Landscaping Design Inc. P.O Box 6371 Key West FI 33040 (305) 797-6056

Name/Address
Karen DeMaria
Urban Forestry Manager/Tree Commission

Property Address	

Date	Estimate No.	Project
07/06/18	5783	

Item	Description	Quantity	Cost	Total
Cocos nucifera	Green Maypan' Coconut Palm 15ft CT BB	1	1,125.00	1,125.00T
Conocarpus erectus	Silver Buttonwood Bush 10-12 ft	5	325.00	1,625.00T
Bursera	Gumbo Limbo 45Gal 12-14ft 3-4 inch cal	3	350.00	1,050.00T
simaruba				
Canella winterana	Wild Cinnamon Bark 65g	1	425.00	425.00T
Thrinax radiata	Florida Thatch Palm 8ft CT	3	565.00	1,695.00T
Delivery Charge			800.00	800.00
, 3			7.50%	444.00
		Т	otal	\$7,164.00



Blue Native of the Florida Keys, Inc. 197 Industrial Road Big Pine Key, Florida 33043

September 19						
	0	41	m	-	t	
_	3	LI			L	C

Date	Estimate #
7/6/2018	1461

Name / Address			
City Of Key West 1300 White Street			
Key West, Florida 33040			
	Terms	F	Project
	Net 30	Public V	Vorks Facility
Description	Qty	Rate	Total
Complete Palm/Tree Material Package, Lump Sum Package Price Material will be Furnished & Delivered. Includes: 3, Florida Thatch Palm, Thrinax radiata, 8' CT 1, Coconut Palm, Cocos nucifera 'Green Maypan', 15' CT 1, Wild Cinnamon Bark, Canella winterana, 65 Gallon 5, Silver Buttonwood, Conocarpus erectus 'Sericeus', 65 Gallon 3, Gumbo Limbo, Bursera simaruba, 65 Gallon 1, Transportation Fee, Per Service		8,625.00	8,625.00
	Total		\$8,625.00

Phone #	Fax #
305-872-4050	305-489-6489

Signature	